311/Eco. UG/3rd Sem./ECO-G-SEC-T-1/21

U.G. 3rd Semester Examination - 2021

ECONOMICS
[PROGRAMME]
Skill Enhancement Course (SEC)
Course Code : ECO-G-SEC-T-1
(Financial Economics)

Full Marks : 40 Time : 2 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10
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a)  What do you mean by real and nominal rate of

interest?
& I FF @ ST I FF 00 [ e
b) What do you mean by hybrid financial

instrument?
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c¢) What is 'Portfolio diversification?
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d)  What is 'prime lending rate' (PLR)?
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e)  What is the relation between "present value' and
'discount rate'?
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f)  What is forward rate?
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g)  What is junk bond?
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h)  What is certificate of deposit?
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2. Answer any two questions: 5x2=10
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a)  Briefly discuss the 'loanable fund theory' of
interest rate.
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b)  What are the merits and demerits of stocks as
an asset class?
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3.  Answer any two questions:

What are the objectives of a project evaluation?
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1)  What is yield curve?
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11)  What are the different types of yield
curve? 2+3=5
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b)
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How do you measure the return and risk of a

stochastic (random) asset? Explain the relation

between portfolio diversification and risk.
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What is differential rate of interest? Discuss the

causes of differential interest rate. 2+8=10
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What do you mean by Net Present Value (NPV)
and Internal Rate of Return (IRR)? Compare
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d)
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between NPV and IRR as investment evaluation
criteria. 4+6=10
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Explain the market segmentation theory and
liquidity premium theory for determining term

structure of rate of interest. 10
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